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Let's consider (E(eB- ) = eKt* and show that #[BEY)
=d E [OBE]

using linear property of expectation ,

* The expected value of the sum of random variables is equal to the
sum of their individual expected values , regardless of whether they are independent

We get ECcOt] = l[1 + &ERE + Oz ... ) =

= 1 + 0#(z] + 04E(z2]
+&3 E(z3] ... now this enables

I to calculate any moment

of random variable

n = 1 # l[ePz] = E(z] + OlE(zL) + #[E3] + ... then I /10t]
0

# /z]

n= 2 d ISeoz) = E(z 2] + 0 E(73] ... thendE[e0z] 10= # [z
·

nE[e0t]1oo#[zY => nE[eOBt] to #(B2]
Then

n = 1 #[Bt)
= E[e0Bt]/0 =0 lett0410-0 = ettr . Ot10

= 0

= 0

n = 2((BE)
=A E(ePBt] lo

= 0
= lett0Y 10:0 =

<Eto/ + O'to I
n = 3 ECBE) = d EleOpt] s

lette 020 = ext* (304 + 0't) lo: 0 = 0
n = 4 E(BE]

=A E <ePBt]l0
: s

" A letto)10 = 0

= et+0 /3t2+ 60'ts + 0"t") lo=0= &e






